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ΑΠΟ :  K493 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K495 Χ.Θ. = 0 +014.468
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ΑΠΟ :  K485 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K498 Χ.Θ. = 0 +014.204
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Κλίμακα υψών

ΑΠΟ :  K59 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K300 Χ.Θ. = 0 +010.057
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Κλίμακα υψών

ΑΠΟ :  K178 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K180 Χ.Θ. = 0 +007.181

Μηκοτομή ΟΔΟΣ 171 (Ρ-ΠΕ2)
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Κλίμακα υψών

ΑΠΟ :  K465 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K386 Χ.Θ. = 0 +008.348

Μηκοτομή ΟΔΟΣ 172 (Ρ-ΠΕ2)
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Κλίμακα υψών

ΑΠΟ :  K387 Χ.Θ. = 0 +   0.00

ΕΩΣ :  K468 Χ.Θ. = 0 +006.145

Μηκοτομή ΟΔΟΣ 173 (Ρ-ΠΕ2)
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